R#7FAN Bfu YUwhkIL o1

RD )X, (SH30, Afk4s s, B13 108, C#24r)
(1)  6L= mL (2)  02kL= L
(3) 5L= dL (4) 4dL= mL
(5) 160 mL= L (6) 250 L= kL
(7) 66 dL= L (8) 120 mL= dL
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(3)

(5)

(7)

DX, (SH30F, Afk4sF, B 13108, C#24y)

9 L= mL
15 L= dL
390 mL=

36 dL= L

(2)

(4)

(6)

(8)

0.6 kL=

24 dL=

750 L=

420 mL=

L

mL

kL

dL
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REFAN BT Uwv kL 01 RERS:

RD ZHrDX. (SH30F, AfkasF, B 13107, C#&24))

* U MILOBT
(KL (¥R Uy b)) L (VY P [dL(F> Yy FL) [mL (SV Yy b))

1 1000
1 10 1000
1 100
(1) 6L= mL (2)  02kL= L
6 x 1000 = 6000 0.2 x 1000 = 200
(3) 5L= dL (4)  4dL= mL
5% 10 = 50 4 % 100 = 400
(5) 160 mL= L (6) 250 L= kL
160 — 1000 = 0.16 250 = 1000 = 0.25
(7) 66 dL= L (8) 120 mL= dL
66 — 10 = 6.6 120 = 100 = 1.2
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RD DK (SH30W, Afkas ., BI15 108, C#247)

(1) 9L= mlL

9 x 1000 = 9000

(3) 15 L= dL
15 x 10 = 150
(5) 390 mL=

390 + 1000 = 0.39

(7) 36 dL= L

36 +10 = 3.6

(2)

(4)

(6)

(8)

0.6 kL=

0.6 x 1000 = 600

24 dL=

24 x 100 = 2400

750 L=

L

mL

kL

750 <1000 = 0.75

420 mL=

dL

420 =100 = 4.2
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